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RASNEES :
What is the main theme of the passage?
What is the passage mainly about?
Which is the main idea of the passage?
A suitable title for the passage would be o
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According to the author, when does culture begin to emerge?
According to the passage, what initiated the transformation of coffee
-house news to mass-media news?

Which of the following reasons can best explain the author's feeling
of self-satisfaction?

Which of the following is NOT mentioned as...?

The author thinks that this years celebration is inadequate and even
half-hearted because o
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According to the author, a common cause of failure in business and
family relationships is

In the eyes of the author, winter in Paris is significant because of ___,
Which of the following is NOT implied in the passage?

According to the passage, what does., suggest?

It can be inferred from the passage that o

We can tell from the excerpt that George o
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The fact that interference is now seen as a blessing in disguise means
that o

"Most people are about as happy as they set their mind to be.”
This statement means that most people o
What does the author mean by “ Denmark's example couldn't be
more timely” ?
According to the passage, "shoppers...flaunt their new power at
every turn” means that shoppers would o
What does the author mean by"irony of the information age?
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What is the tone of the author in the last paragraph?

The author winds up the passage with a
In the authors opinion, the counter- conference

What is the authors attitude towards....?
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5]1: Which category of writing does the review belong to?

[A] Narration [B] Description [C] Persuasion [D] Exposition
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The rhetorical function of Para. 1 is to

What function does the second sentence in Para. 1 serve?
Which of the following best describes the author's development of
argument?

The relationship between the first and second paragraphs is that
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5] 2: Which of the following best describes the author's development
of argument?

[A] Introducing the issue —citing ways to deal with the
issue—describing the actual status-offering reasons

[B] Describing the actual status—introducing the issue—citing ways
to deal with the issue—offering reasons

[C] Citing ways to deal with the issue—introducing the
iIssue—describing the actual status—offering reasons

[D] Describing the actual status—offering reasons—introducing the
iIssue—Citing ways to deal with the issue
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f513: " My entire closet is borderline Olympic” is an example of
[A] exaggeration [B] analogy [C] understatement [D] euphemism
{514 The following are comparisons made by the author in Para. 2
EXCEPT that :

[A] the entrance hall is compared to a railway station

B] the orchestra is compared to a magnet

[C] Turgis welcomed the lift like a conquering soldier

D] the interior of the cafe is compared to warm countries
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f5]5: A suitable title for the passage would be

[A] Journey That Scared Me [B] A Journey to Remember

[C] The Wild West African Lorry [D] A Comic Journey in West Africa
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